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17, x' * 5y' - 8x - 30y - 39 = O

f-gx*5,f-3Oy=39' (x' - 8x) " 5(Y'- 6Y) = 39
(x" -31 * 16) * 5(y2 - 6y * 9) = 39 + 16 + 45-

(x-af*5(Y-3)2=100
*(Y-3)2=1

100 20
o = 1O 5 = 2€. c2 = 1OO - 20 = 80, c = 4'JE

center: (4, 3), horizontol, vertices: (14, 3), (-6, 3),
foci: (4 * 4./5, 3), (4 - 4.15, 3), eccentnicity = 2.815

18) 3x2*Y2*!8x-2Y'8=O
3x2 *'18x + y? - 2y = 8

3(x2*6x)+ (Y"'ZYr=8
3(x2 * 6x * 9) * (f - 2y + 1) = 8 + 27 + t

3(x*3)2"(Y-1)2=36
(x*3'12*(I-!-E=1

t2 36
o i 6,b = ?./3, cz = 36 - 12 = 24, c = 2&
center: (-3, 1), verticol, vertices: (-3,7r,-(-3, -5),

foci: (-3, I + 2G), (-3, I - 2"16), eccentricity: GIS

30) center: (0, O), vertices: (O, -8), (0, 8), foci: (O, -4), (0, 4)
o = 8, c = 4, t6 = 64 - b2, b2 - 48, verticol; equotion: d* f-= t

48 64

47}vertices: (-5, O), (5, O), e = 3/5, center: (O, O),

o = 5, c = 3, 9 =?5 -b2,bz = !6, horizonfol, equotion: x2 "f-= |
25 16

48) vedices: (O, -8), (O, 8), e = |, center: (0, O),

o = 8, e = 418, c = 4, !6 = 64 - b2, b2 = 48, verticol, eguotion: f * f = t
4864.


